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Achievement criteria

Achievement Achievement with Merit Achievement with Excellence
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Inflation concepts

Inflation, deflation and disinflation
Inflation



Question Three
a. equation

b. Fully explain money supply price level
Quantity Theory of Money

c. Fully explain effect
boom recovery

Quantity Theory of Money

 Year 2010  
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The aggregate supply/aggregate demand  
(AS/AD) model

Cost-push inflation
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International trade

International Trade

Exports

Imports

International trade in services

NZ’s Top 10 Exports (2012) NZ’s Top 10 Imports (2012)

Rank Commodity Rank Commodity

1 1

2 2

3 3

4 4

5 5

6 6

7 7

8 8

9 9

10 10

Export partners

Top 10 Export Countries (2012)

Rank Country

1

2

3

4

5

6



2.2

7

8

9

10

Import partners

Top 10 Import Countries (2012)

Rank Country

1

2

3

4
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Free Trade Agreement

2013
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Real money

The Circular Flow Model showing only money flows

Households ProducersGovernment
Overseas 

sector

Financial 
institutions

Injections and leakages from the circular flow
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 practice Questions: Using the Circular Flow Model to illustrate 
economic growth

Question One

a. b.

Model One
Circular flow model for the New Zealand economy

Households Producers Overseas

Financial

Consumption

Income

Direct tax Indirect tax

Investment

Import
payments

Export
receipts

Savings

Government

a. 

 Year 2013 
Ans. p. 117
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The effects of economic growth

The benefits of economic growth

The negative effects of economic growth

The impact of economic growth on various elements in New Zealand society

Affected element Positive impacts Negative impacts

Households

Businesses

Government

Environment
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 practice Questions 
The effects of economic growth

Question One

a. b.

a. 

Real GDP

Price
level

Graph: AS/AD Model of the
New Zealand economy

PL

Y

AD

AS

 Year 2013 
Ans. p. 118
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Achievement Standard 91222 
(Economics 2.1): Analyse inflation using 
economic concepts and models

Inflation concepts

Question One
a. Disinflation (A)

b.  Inflation occurs when there is an increase in the general level 
of prices. An increase in the price of bottled water is only 
an increase in the price of one particular good, which is not 
inflation. Since bottled water is not used in the production 
of many other goods and services, an increase in the price of 
bottled water will not cause the prices of many other goods 
and services to increase and so is unlikely to result in inflation. 
(M)

Question Two
a. Deflation (A)

b.  Inflation is an increase in the general level of prices and not 
an increase in the price of a particular good. An increase in 
the price of overseas packaged holidays affects only one good 
and is therefore not inflation. (M)

Question Three
a.  i.  Deflation.

 ii.  Inflation.

 iii.  Inflation.

 iv.  Disinflation. (A – three correct)

b.  A decrease in the general price level. (A)

c.   Inflation is an increase in the general level of prices and not 
an increase in the price of a particular good. An increase in 
the price of oil will have an impact on the prices of many 
goods as associated transport and production costs increase, 
and this causes inflation. A 37% increase in the price of butter 
will not impact much on the prices of other goods, and so is 
less likely to cause inflation. (M)

Question Four 
a. A Inflation.

 B Deflation.

 C Inflation.

 D Disinflation. (A – three correct)

b. A fall in the rate of inflation from one period to the next. (A)

c. An increase in the general price level. (A)

p. 3

p. 4

p. 4

p. 5

The quantity theory of money

Question One
a.  M: Money Supply is the value of funds in circulation. This 

includes notes and coins and money held in accounts with 
banks or other financial institutions.

  V: Velocity of Circulation is the rate at which money is spent.

  P: Price level is the ‘average’ price of all goods produced in 
the economy

  Q: Real Output is the level of production (or output) in the 
economy.

b.  The Quantity Theory of Money states that MV = PQ. If 
the Velocity of Circulation (V) and Real Output (Q) remain 
constant then an increase in the Money Supply (M) will cause 
an increase in the Price Level (P) of the same proportion, 
which is inflation. When there is more money available, but 
no increase in the amount of goods available, the price of the 
goods will increase. (M)

c.  A reduction in consumer confidence is likely to cause 
consumers and households to increase their savings or reduce 
their debt. Either way, there is also likely to be a decrease in 
their spending and a slowdown in the velocity of circulation  
(V).

  Total spending = M × V. When an increase in the money 
supply is accompanied by a reduction in the velocity of 
circulation, there will a smaller increase in total spending than 
if the money supply increases while the velocity of circulation 
remains unchanged.

  Since the Quantity Theory of Money states that MV = PQ and 
we assume that the level of output (Q) remains unchanged, 
any change in the price level (P) will be caused by M × V. If M 
increases while V is unchanged, then P will increase. If some 
of the increase in M is offset by a fall in V, the overall effect on 
P will be smaller. (E)

Question Two
The Quantity Theory of Money is MV=PQ.

An increase in the money supply (M) may cause an increase in 
the velocity of circulation (V) if people expect prices to begin 
rising and so spend before the purchasing power of their money 
falls. An increased money supply combined with an increase in 
the velocity of circulation will cause total spending (M × V) to 
increase, and the level of output (Q) may increase in response 
to the increased demand. If the level of output is less than the 
increased spending, it will create some inflationary pressure so the 
price level (P) will also rise.

p. 6 

p.8 
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If the economy is in the recovery stage of the business cycle, it 
will be producing well below capacity so there will be a lot of 
unemployed or underemployed resources. Output will be able to 
be increased without significant increases in the cost of resources 
so the impact of the increase in the money supply on the price 
level will be less than if the economy was nearer the boom phase of 
the business cycle when inflationary pressure would be greater. (E)

Question Three 
a. M × V = P × Q [or MV = PQ] (A)

b.  During the global financial crisis there was a decrease in the 
velocity of money circulation (V). Because of this, increases 
in the money supply (M) may not have had any effect on the 
price level (P) if the increase in M was offset by a decrease in 
V (so no overall change in M × V) while the level of output 
(Q) remained the same (so no overall change in P × Q). The 
overall impact on the price level would depend on how much 
the fall in V was relative to the rise in M. (M)

c.  In the boom period of the business cycle, unemployment 
is low and household incomes are rising, so spending by 
both households and firms is rising, causing the velocity of 
money circulation to increase. An increase in the money 
supply at the same time means M × V will be increasing, 
and if output remains at about the same level (Q will not be 
able to increase much as the economy will be operating near 
capacity) then the price level will increase to maintain the 
relationship MV = PQ.

  In the recovery period of the business cycle, unemployment 
is higher and household spending is lower so the velocity 
of money circulation is also lower. An increase in the money 
supply at this time will be offset by the lower velocity of money 
circulation. Because of spare capacity in the economy, Q will be 
able to increase, which will reduce any impact on P. (E)

The aggregate supply/aggregate demand 
(AS/AD) model

Question One
a. 

     Price
level

Real GDP

AD

AS

Graph One

PL

Y

AD1

PL1

Y1 (A)

  Lower personal tax rates would give households higher 
disposable income. This would cause an increase in household 
consumption spending (C), increasing aggregate demand 
(AD) and shifting the AD curve to the right from AD to AD1. 
The increase in AD would increase the price level from PL to 
PL1, causing inflation. (M)

p. 9

p.11

b. 

     Price
level

Real GDP

AD

AS

Graph Two

PL

Y

AD1

PL1

Y1 (A)

  Lower interest rates will cause household consumption (C) to 
increase as it will cost less for households to borrow and the 
incentive to save is reduced. Lower interest rates also cause 
business investment (I) to increase as costs of borrowing 
are lower so more business projects will become profitable. 
C and I are both components of aggregate demand (AD) so 
increases in C and I will cause AD to increase, shifting the AD 
curve right from AD to AD1. (M)

  Lower personal tax rates are likely to have a smaller impact on 
inflation than lower interest rates because lower personal tax 
rates increase C, while lower interest rates increase both C and I.

  The increase in AD on Graph Two is therefore much 
greater than the increase in AD shown on Graph One. As a 
consequence, the impact on the price level on Graph Two is 
also much greater than the impact shown on Graph One. (E)

Question Two
a. Inflation means an increase in the general level of prices. (A)

b.  

Price 
level

PL2

AS1AS2

AD

PL1

Y1Y2 Real GDP

Graph One: AS/AD Model of the New Zealand Economy

(A)

c.  Higher insurance costs would affect almost all New Zealand 
businesses which could cause a decrease in aggregate supply 
(AS), shifting the curve from AS1 to AS2. This could cause an 
increase in inflation by increasing the price level from PL1 to 
PL2. This occurs because firms increase their prices to cover 
their higher costs of production. (M)

d.  An increase in beef export earnings could affect inflation 
by increasing Net Exports (X – M). This is a component of 
aggregate demand (AD), so AD could increase from AD1 to 
AD2, as shown on Graph Two below. An increase in AD could 
cause the price level to rise from PL1 to PL3.

  An increase in insurance costs for New Zealand businesses 
may have a greater effect on inflation than an increase in beef 
export earnings because higher insurance costs will affect 
almost all New Zealand businesses, while there are relatively 
few businesses that export beef. So any decrease in AS as a 
result of higher insurance costs is likely to be greater than any 
increase in AD as a result of higher beef export earnings.

p.13


